N & 0l & AF S E A A

A3 S4T SUS SN 2HS
HE: 2HS FUSAAY
ool RS FOSAY (9l & 2
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AR 2N B SR(S) - MBAY - BAS 0l &k 24 e HlnE2
sg+ S8 10,262, 140 12,225,251 21,963,111
288 955,606 1,208,551 A252,945
SHS FUSAAY 382,500 561,000 A178,500
SHES FoSAANY 382,500 561,000 A178,500
2@ FOSAANY 382,500 561,000 A178,500
401 Al&HIL 20| 382,500 561,000 A178,500
01 Al&H] 380,000 558,000 ~178,000
O A7Q FOI=2AAQ 380,000,008 * 144 380,000
03 Al& S CH| 2,500 3,000 A500
O ZQ%2AY =7 2,500,0002 * 1& 2,500
SHE FOUMEH 2Y 289,239 245,334 43,905
SHE FOMEH 2Y 242,815 197,540 45,275
2ME FOUNXME 2 35,375 33,780 1,595
201 Yer2 YY) 25,375 23,780 1,505
01 Attt 23,440 20,480 2,960
O Yersgt| 4,600
- ZOINIME BZFY 150,008 * 128 1,800
- B2 HY M
70,0002 * 10744 * 43l 2,800
O 2949 18,240
- FONXTRIY AN
20,0001 * 16AI2F * 342 * 122 11,520
- ZOINXISIAS 5o B
20,0002 * 2891 * 122 6,720
O gxz 600
- FOIRRIME F) 50,000 * 122 600
02 IZ2Y| 1,935 3,300 A1,365
O ezl 1,575
- FOX XM 2
1,50020 * 20 5AI2H * 1052 * 1CH 1,575
O ANZZHIRXI 360
- CeHma FUIRX 30,000 * 122 360
301 LPBAI 2,000 2,000 0
10 BAAEI 242 2,000 2,000 0
O ZQINx NASs BT 2,000,002 * 14 2,000
307 Q1201 8,000 8,000 0
04 BIASAIS 8,000 8,000 0
O 3.14 JIDIS YRS DG SA
,000,0008 * 13] 8,000
SHE £-2 - 9E 29 150,040 148,760 1,280
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M. 2MG FOMH ¢
D S FUMH 2Y (&9 HM
= — NE
2N -3 -2 (SH) - NEAME - BHES 0] AFCH 'Oﬁ/'\jg'ﬁ Hns
301 2EtEAZ 150,040 148,760 1,280
05 -2l EEs2a3 150,040 148,760 1,280
O - & 141,040
- Jl2x4 200,000& = 4321 = 12& 103,200
- &M= 200,000& =* 43921 * 23| 17,200
- 3o FEA G
20,000& * 43021 x 23| x 128 20,640
O egt&x4 25,000& = 180¢! * 23] 9,000
SES AIRA 2F 22 57,400 15,000 42,400
204 NP AY| 2,400 0 2,400
03 SEIRZHI 2,400 0 2,400
O NREYSIFEH 100,000& * 201 = 12& 2,400
401 AIEHBIL 20| 55,000 15,000 40,000
01 Al&H| 55,000 15,000 40,000
O st&a B+ 22,000,000& » 14! 22,000
O HAF HIEEFY W HIZ A
18,000,000& * 14 18,000
O HAF &&= 15,000,000& * 14 15,000
g Selder A 46,424 47,794 A 1,370
=dg SZE| 46,424 47,794 A 1,370
101 1A H| 17,430 19,720 N2,290
04 JI2tHZ22NHsSES 17,430 19,720 N2,290
O YAHASOIE 35,000& * 201 x 75! 5,250
O XNASAX sHAY
35,000 * 69! * 6 * 73] 8,820
O =22 &£ T2EH & Mx=&=Y
35,000& * 621 x 8 * 23] 3,360
201 dEt23 | 7,374 7,174 200
01 AP 2eltl 7,374 7,174 200
O 2etx=gH| 1,350
- AALMeAT] OHLHE L & 2=0tH &
150,000& * 9QJH A 1,350
O =&l 3,024
- 2o EX
7,000& * 1821 x 23| * 12& 3,024
O gxz 3,000
- olAAEUIE Z3Y e & 400,000& * 5 2,000
- DAXYE MyDI2=H &H| Xt
250,000& * 43| 1,000
206 i = Hl 21,620 20,900 720
01 M=Hl 21,620 20,900 720
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A= 527 S0IS SN 2HES
HE: HH2YAY(2HS)
=2l (25 &2
o 5. Chol (5 ” . e =
- RN - F3H - SA(SA) - MRAY - BES Ol &+ 9K Ofl At ot Hws2
- SAD| Y Zelf)]
220,008 * 6CH * 122 15,840
- AR TR 400,008 * 83| 3,200
02 ZTZ2H| 71,780 95,668 123,888
O BZR3 ¥ WAl 42,000
- SAIRA ®IIR3 900,000 * 122 10,800
- =2X83 ®e3 500,008 * 122 6,000
- SHHST IR 700,008 * 128 8,400
- ®alea 50,0008 * 122 1,800
-4 ot4E 23 250,000% * 122 3,000
- 2He= 1,000,0002! * 122 12,000
O ezl 3,780
- AR, =X 3
1,50020 * 34 BAI2H + 1052 * 1CH 3,780
O AN&ZHIRXbI 14,000
- D2EH S BIIY 2
250,008 * 4CH * 63l 6,000
- A2 8,000,000% * 1 8,000
O Tzl 12,000
- HARY 8,000,0002 * 1CH 8,000
- 2852 4,000,0002 * 1CH 4,000
202 04t 55,000 55,000 0
IENETI 1,000 1,000 0
O HENZE+ 2 goge =1
50,0002 * 102! * 23l 1,000
02 2 01| 54,000 54,000 0
O Aol 250,008 * 189! * 1% 54,000
203 HRFY| 0,800 0 10,800
01 IS YAR =AY 6,600 0 6,600
O SZ(321018) 6,600,0008 * 1& 6,600
04 EN2YARETY| 4,200 0 4,200
O =5(30210/5) 350,009 * 122 4,200
204 X242 1,800 0 1,800
01 HMZALLBAY| 1,800 0 1,800
O &= 150,008 * 191 * 122 1,800
405 THAHE S 17,050 97,000 A79,950
01 RAUSEHSH| 17,050 97,000 A79,950
O gstzs Azl 10,000,0002! * 1CH 10,000
O ALY 450,008 * 9 4,050
O geny 500,008 * 37 1,500
O VRY 1,500,0002! * 1CH 1,500




Su3 Seis SN EME
ZHO FOIEAMNY
ZH O FOISRMY (e & 2
_ _ SIEN
SM-H L SRA(S) - MRAY - BAS Abod e HlnE2
719,771 948, 113 £228,342
B 0I5B ALY 343,000 545,000 £202,000
B OIS A 343,000 545,000 A202,000
EHY FOSAANY 343,000 545,000 A202,000
401 Al HI2 2 CHY| 343,000 545,000 A202,000
01 Al&t| 340,000 542,000 £202,000
O £73% FOSAAY 340,000,008 * 114 340,000
03 Al&=OHH] 3,000 3,000 0
O Fo=ANY =7 3,000,002 * 14! 3,000
ZoIHE 29 172,455 199,696 £27,241
B FOIME 29 127,630 150,870 123,240
Mgl FRIRINE 29 37,480 24,120 13,360
201 Y2 25,480 22,120 3,360
01 AtR:2lt] 25,480 22,120 3,360
O gersgt| 3.400
- OHHEES M= 1,008 * 20004 * 103l 2,000
- BB WX 70,0008 * 5HA * 43 1,400
O 2g+g 22,080
- YA
20,0002 * 16AI2F * 4242 + 122 15,360
- FORRISIRE FolEA g
20,0008 * 289! * 128 6.720
01 YerEa 2,000 2,000 0
10 BAAHIR A 2,000 2,000 0
O ZQINZ NAHSHDSE 2,000,002 * 14 2,000
405 XH&HE SH 10,000 0 0,000
01 HAUSEH S| 10,000 0 10,000
O FOXXME FIIPY 10,000,008 * 11 10,000
HEt S -2 oy 2y 85,250 85,250 0
01 LerEA 85,250 85,250 0
05 -2 -RESRAZ 85,250 85,250 0
O 2y +g 82,000
-olz4y 200,008 * 2501 * 122 60,000
- 2013 200,008 * 2501 * 23| 10,000
- SlolE AL g
20,0002 * 250! * 23| * 128 2,000
O prgag 25,0002 * 6591 * 23] 3,250
Mgl AL 292 4,900 41,500 36,600
201 L2 2,500 0 2,500




A2 S92 S0iS SA BN
My ZHS FOIME 2
ZHS FOME 29 CERL
- _ _ Muo
2 RA - FH . OR(SH) - MRAY - BeS 0 Ak o4 Sl ko HRz2
02 2523l 2,500 0 2,500
O & 8438 B 2,500,000& » 14l 2,500
204 X248 AY| 2,400 0 2,400
03 SEYREH 2,400 0 2,400
O NeEEs:2E 100,000& = 2¢! * 128 2,400
SNY Seldo =40 44,825 48,826 A4,001
SHY 3 EH 44,825 48,826 A4,001
101 1A 13,125 15,810 N2,685
04 JIZHMIZ2XHSE =+ 13,125 15,810 N2,685
O g9ias 08Y 35,000& * 191 * 75« 2,625
O SidEe AT ALY
35,000& * 3¢ % 202 * 32/ 6,300
O F2E28 2 st@FH oy
35,000& = 321 » 102 * 43| 4,200
201 2er2 | 10,060 1,516 A1,456
01 AFS2t2itl 10,060 11,516 N 1,456
O e8| 700
- UEXH BEEAY N
70,0003 * 544 * 23] 700
O gx= 6,000
- ME0IAXe FHHl 500,000& * 32 * 43l 6,000
O 2zl 3,360
- 2RI Y P YREX
7,000& = 102! * 43| » 128 3,360
206 M=l 21,640 21,500 140
01 M=Hl 21,640 21,500 140
O goas 7,440
- R 1,600 = 54+ 752 * 4[4 2,400
-d= 1,4008 = 124+ 752 « 404 5,040
O SR TOSH X4
2,500,000 * 27 A 5,000
O ZAZA ZHI =4 2,000,0008 * 2902 4,000
O g +# 10,000& * 50% * 23l 1,000
O 22 4 1,0008 = 5002 * 23l 1,000
O 8H0se BABE
10,000& = 321 » 105 = 43 1,200
O gstzs 10,000& * 200% 2,000
HE2AHUI(EENH) 204,316 203,417 899
A2 48,204 66,559 A 18,355
el 2| 48,204 66,559 A 18,355
101 1A H] 48,204 53,959 Nb,755




su7 Spis SN E
HHSAAH (ZENH)
ol 2H | ?EH)
SN HB S (BH) - NRAY - BA Abol e =2t
01 B 48,204 53,959 N5,755
O Nztelaesy
7,457 * 67AI2F = 1201 = 128 x 0.67 48,204
24l 156, 112 136,858 19,254
=34l 156, 112 136,858 19,254
201 LBEt2AH| 94,712 91,858 2,854
01 At 22l 41,608 36,594 5,014
O bBtx=2H]| 17,136
- ANRES 2 300,000& = 128 3,600
- ANEEEE 2 H&
70,000& = 5J0A = 83 2,800
- FOIEFTIH Y 2FAHH M
70,000& = 491 x 123] 3,360
- BOIE BYUS AT 248
2,000,000& * 14 2,000
- ROoIMIIIHEH 892
370,000& x 128 4,440
-QN=2U3 13,000& * 65 ~ 12& 936
O 2949 7,300
- Melesy 20,0008 * 121 * 365 7,300
O 2zl 9,072
- HED 9X Y YR 23X
7,000& * 1291 x 93] = 12& 9,072
O gxz 8,100
- ZAPD(Z2H &3E)
220,000& * 14 = 12& 2,640
- TelE D] 110,000& = 3CH ~ 128 3,960
- 24E HAIFE FOE HA
300,000& * 1CH = 53] 1,500
S329H| 53,104 55,264 A2,160
O 2222 % HA 29,400
- RERZ 1,750 * 40024 = 12& 8,400
- &S 1,500,000& = 12& 18,000
- N3e=2 150,000& = 12& 1,800
- MG ERS 100,000& = 12& 1,200
O A=l 4,704
- 22|
1,400 ~ 24 * 8AI2H = 1052 * 204 4,704
O A& &EHIS Xl 7,000
- HAERXNE> 3,000,000& = 14 3,000
- WUHBH)IRXE 4 250,000& = 60H 1,500
- MY S A E L 100,000& = 5& * 53| 2,500
O Xh&E&Erd] 12,000
- EAXE 8,000,000& = 14 8,000




43 sS4 SUS SN BN
HH: HSEAY(ZHH)
D123yl (el &2
SA-HH . C(BT) - MBEAY - BAS 0 Ak o1 gggf; HRS2
- AEHSIEXNE 4,000,000& * 14 4,000
202 (4 37,000 37,000 0
01 2| 1,000 1,000 0
O 9HPRFX 50,000& * 1091 x 23] 1,000
02 EHOAbI 36,000 36,000 0
O NI 250,000& = 12021 = 12& 36,000
203 PF=&| 9,600 0 9,600
01 JI229LRF=EY| 6,600 0 6,600
O HZE(30t0]8t) 6,600,000& * 14 6,600
04 2EASIEYRF=EH| 3,000 0 3,000
O EHMS(15210]/0t) 250,000& = 12& 3,000
204 X FSHHH| 1,800 0 1,800
01 IR ZH| 1,800 0 1,800
O H& 150,000& * 191 = 12& 1,800
405 KHAHF S 13,000 8,000 5,000
01 AL =S EFHSHI 13,000 8,000 5,000
O dEE )] 4,500,000& = 2CH 9,000
O CIXEIt0 et 400,000& = 1CH 400
O gg=s3d)| 500,000& = 1CH 500
O sgZ2N=E HAHS ZSDI| 300,000& = 24 600
O dH&ED 2,500,000& = 1CH 2,500




43 sS4 S0S SA e
TR PR FOUXVAY
9 ZEB FOSAANY (e @
- . HMEC
A2 A FH S (E) - NRAY - BLS P Sl ko Hns2
zee 786,067 91,279 A 175,212
2EH FO=F ALY 342,500 504,500 A162,000
BB RSN 342,500 504,500 £ 162,000
TEB FRHAMNLY 342,500 504,500 £ 162,000
401 AlZHI R 342,500 504,500 A 162,000
01 AlZHI 340,000 502,000 A 162,000
O ARE2 F0=3A  340,000,000& » 14 340,000
03 A&=20HYI 2,500 2,500 0
O FoxBAY =3 2,500,0008 * 141 2,500
28 FUHH 29 218,396 243,167 N4, 711
2Hd FUdH 28 140,713 157,795 A17,082
80 FONXEH 29 26,663 24,145 2,518
201 LEt=gH| 24,663 21,145 3,518
01 Ab=2telH 16,300 12,940 3,360
O Yerrg| 1,900
- FURKUEH B2 BB N
500& = 50001 = 23l 500
- 22 40 M 70,0002 x 504 * 43 1,400
O 2y+g 14,400
- FORME DALY
20,0003 * 16AI2H » 20t= * 128 7,680
- FOURKFNE 5o FHLY
20,000& * 282! = 12& 6,720
02 B2 8,363 8,205 158
O 223 ¥ HA 6,000
- SN2 B8 500,000 = 12& 6,000
O gzl 2,363
- =XEB Ly
1,5008 * 34 * 5AIZ2F » 1056 2,363
301 LEt2a s 2,000 2,000 0
10 SAIAHIE2 oS 2,000 2,000 0
O F2UXX XNEEs W= 2,000,0008 * 14 2,000
2488 s -2 - g 2 102, 150 102, 150 0
01 LerEaz 102,150 102, 150 0
05 &-cl-eEes2ds 102, 150 102, 150 0
O s -cl&ds+d 98,400
- Jzag 20,0008 * 302! » 128 72,000
-d0=s 200,000 =+ 3091 = 23] 12,000
SRR
20,0003 * 309 * 23| » 123 14,400




A= sU7 SUs SN
HE: FEO FUMEH 29
D ZEB FOIMEH 29 (S5 &2)
= - FSIE =
SN - EHH - SRA(SAH) - MM - BES Off &F K Ofl At ot Hws2
SIEEEY] 25,0002 * 7501 * 23l 3,750
Beo ARA 282 11,900 31,500 19,600
204 X @432 2,400 0 2,400
03 SHULHY| 2,400 0 2,400
O HRZYILA 100,008 * 29 * 128 2,400
401 AIZHILLCH] 9,500 31,500 £22,000
01 Al 9,500 31,500 22,000
O PIARA HBARA FIIBA
4,500,0002 * 14! 4,500
O M4TEXXLLUIE 5,000,008 * 14 5,000
B ZRIMO =X 77,683 85,372 A7,689
SO BT 77,683 85,372 A7,689
101 2I21t| 34,125 35,190 A1,065
VIBERTEESEERS 34,125 35,190 A1,065
O geasols 35,0002 * 12 * 752 2,625
O PR 35,0002 * 1291 * 752 31,500
201 LByl 17,450 17,242 208
01 At 10,550 10,342 208
O Y8l 3,050
- M| BYEI| OHYE Y T3S R
80,0008 * 1074 1,800
- AR JNRI] D Ul RIE
25,0008 * 5004 & 1,250
O Yx2 7,500
- THOHCH® o MEBOIRHEl ZHIYR
500,0002 * 3CH * 53l 7,500
02 IT2Y| 6,900 6,900 0
O 2222 < HAl 6,900
- BEHTA 2ha) 42
300,008 * 43| 1,200
- A0IBFA Buad £42
15,0008 * 50044 * 63l 4,500
- Not=Ag2 10,0008 * 122 1,200
206 T 2H| 23, 108 18,940 4,168
01 HEH| 23,108 18,940 4,168
O goirs 25y 9,938
- Fus 1,70020 * 54 752  5CH 3,188
- 3R 1,50021 * 124 % 752 * 5C4 6,750
O 58 2 CREHE 23
50,0002 * 5% 23] 500
O #7032 HL8E
5,002 * 301 * 4% * 123 720
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0z N>

J2
OB 0K OHt
AIningn
e
44 o
e

s LR L
HE 29
dob =z

- _ _ Muo
- M- HA(SAH) - MRAY - BES Aol Ofl At ot Hws2
SUS AHEHS(EFUHRAZEN)
10,0002 * 200X * 23| 4,000
SRIFO BUXY 5002 * 3,002 * 35 4,500
ZSATA U A0IGTA ADE
10,0008 * 122 1,200
HFH KRB (FR)
1,50020 * 10 L * 504 = 302 2,250
243 3,000 3,000 0
03 oI AYHXI A B 3,000 3,000 0
=735 24| 3,000,0008 * 1& 3,000
3 & 9) 225,171 213,612 11,559
52,221 71,086 £18,835
52,221 71,086 £18,835
bl 52,221 58,456 £6,235
52,221 58,456 26,235
AolaRLg
745720 * 67AI2F * 1321 * 128 * 0.67 52,221
172,950 142,556 30,394
172,950 142,556 30,394
2ot 109,250 101,656 7,594
zely) 45,850 32,400 13,450
Bt 2| 15,630
oIM BARY SF 7Y
200,009 * 122 2,400
ANZOHY 228 &40
70,0002 * 5)HA * 53] 1,750
NPEE TY 200,009 * 122 2,400
ZOIEY U RAD M
70,0002 * 291 * 128 1,680
DIANA o BEH
200,008 * 4% * 33l 2,400
HMIGHHBY S 2B 442
5,000,0008 * 1 5,000
2yag 7,300
EELESS 20,0002 * 19 * 3652 7,300
] 2,000
- =AY ERIED)
200,008 * 5CH * 122 12,000
2| 10,920
goige =3
7,00080 * 1321 + 102 * 122 10,920
I | 63,400 69,256 75,856
Z2ZR2 2 WAl 28,740
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42 547 gHE S e
EEREEETEEED
Jl=238l e
S EB SR (E) - NIRAY - B S Lo e 2
- RERS 1,750 = 5004 » 128 10,500
- IS (120H) 1,100,000& = 12& 13,200
- H3e= 300,000& = 123 3,600
- & otk 83 120,000& = 123 1,440
O ¢g=dl 20,160
- ARA 230
1,500& » 44+ 8AIZH » 105& * 404 20,160
O Xt el 14,500
- 2SS EXE 3,500,000& * 14 3,500
- HAXE 8,000,000& * 1CH 8,000
- MG 3,000,000& = 1CH 3,000
202 O 40,000 40,000 0
01 =AY 1,000 1,000 0
O gRH&s &4 & 50,0008 = 102! * 23] 1,000
02 XN 39,000 39,000 0
O XNl 250,000& = 1321 » 123 39,000
203 ¥R =&l 9,600 0 9,600
01 JI22ZHFR=LH 6,600 0 6,600
O ©z(3eroler) 6,600,000& » 14 6,600
04 RA2SHRF=LH| 3,000 0 3,000
O &gg(152l015t) 250,000& = 123 3,000
204 M2 AH 1,800 0 1,800
01 MMSHIR=HAH| 1,800 0 1,800
O g 150,000& = 121 « 128 1,800
405 XtobE SHI 12,300 900 11,400
01 T =S FH SHI 12,300 900 11,400
O SMNEDI 1,000,000& * 1C4 1,000
O MR & D 10,000,000& = 14| 10,000
O HAZET 130,000 & * 1074 1,300
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AR SUT S0S SN =
HE: 20 FoIZAAL
Sl =0 FDIERAY SEEL
- _ _ Muo
AR RN SR(SH) - NRAY - BHES arey i =
=0 834,820 948,672 £113,852
S0 Z0I% ALY 342,500 497,400 £154,900
S0 =0I%2IALY 342,500 497,400 ~154,900
S0 E=0ISRIAY 342,500 497,400 ~154,900
401 Al&HIL 20| 342,500 497,400 A 154,900
01 Al&H] 340,000 495,000 A155,000
O A2 FOSAAY 340,000,008 * 1 340,000
03 Al& S OHY| 2,500 2,400 100
O ZoI&RNY =& 2,500,0008 * 14! 2,500
=0 FOIME 29 275,150 237,450 37,700
S0 FDIME 29 202,570 57,770 44,800
S0 FUNRME 2Y 46,580 35,180 1,400
201 LByl 44,580 33,180 11,400
01 Attt 39,060 26,160 12,900
O w2l 5,460
- E2EA%AS HE 70,0008 * 5 * 43 1,400
~ QOIFT JI2Z Bl (SECOM) & X
300,000 * 14 300
- ROIFX JIH LI (SECOM) B2
130,000 * 122 1,560
- FONXMH ESHIN M
5002 * 1,00004 * 23l 1,000
- FONRMEY HBLEE 7Y
200,008 * 1 200
- FOURIME 2l 4002
500,008 * 23| 1,000
O 294Y 33,600
- FOINKME TR DALY
20,0008 * 16AI2F * 7242 * 122 26,880
- ZOINXISAS 5o B
20,0008 * 2821 * 122 6,720
02 ZZ2Y| 5,520 7,020 A1,500
O 222 < Al 3,120
- ®Je3 S 200,002 * 122 2,400
- 4BI4ER3 S 60,0002 * 122 720
O AN&ZHIRX b 2,400
- MESRA 28017 42 2 YA 2
s 200,008 * 123] 2,400
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HHO SR =T 63,025 65,695 A2,670
HHS HAIY) 63,025 65,695 A2,670
101 2124l 16,605 16, 150 475
04 JIZH22HS L4 16,625 16, 150 475
O otEIIge As0ls
35,0002 * 191 * 752 2,625
O =2 2 ez
35,0009 * 109! * 52 « 83l 14,000
201 Yer2 ) 11,500 19,300 A7,800
01 ALR eIt 11,500 19,300 A7,800
O gxz 11,500
- HOHTHE ABIEES S ZyIUR
500,008 * 152] 7,500
- MEUAHR(ASERN)
400,008 * 102l 4,000
206 M2l 27,400 30,245 A2,845
01 T2l 27,400 30,245 A2,845
O goirs R4 6,600
- 3z 1,60021 * 104 * 752 * 2CH 2,400
- 3R 1,40020 * 204 * 752 * 2T 4,200
O =2 3 T UWS 2
5,000 * 55 + 2044 * 53] 2,500
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SR EB L ER(B) - HRAY - B S 0 & o4 e HIRZE2
O 227Y S 5002 * 10,0002 * 23| 10,000
O HABES(SEHEA 2H2)
200,008 * 204 * 128 4,800
O #2015 H28S
5,000 * 521 * 5% * 123 1,500
O 4o SoiCHEl S 50002 * 25 + 2000H 2,000
401 Al&HIL 20| 7,500 0 7,500
01 Al& ] 7,500 0 7,500
OS2 SHBDS SAYNAE &1
150,0008 * 5074 7,500
A (HE ) 206,462 221,599 ~15,187
=2l 56,238 80,049 £23,811
22| 56,238 80,049 £23,811
101 124l 56,238 67,449 A11,211
01 24 56,238 67,449 A11,211
O ANZe2R4Y
745720 * 67TAI2E * 1421 = 128 * 0.67 56,238
BT 150,224 141,550 8,674
=2l 150,224 141,550 8,674
201 LBty 94,824 90,050 4,774
01 Attt 41,260 36,750 4,510
LIRS =11 12,480
- A RUAUIBAE 120,008 + 122 1,440
- T AREE BY(SAEX, EH S)
500,002 * 122 6,000
- BIRAALZES HMX 200,008 * 122 2,400
- EEH. AT HES
70,0002 * 291 * 6% 840
- N2 Y TN PY 150,008 * 122 1,800
O 2949 7,300
- Weaesy 20,0002 * 19 * 3652 7,300
O 2zl 5,880
- MEDITS L GHADREE T4
7,00020 * 1491 * 53 * 122 5,880
O yxe 15,600
- BHIHI(ZAD] L ZRIE)
220,008 * 5CH * 122 13,200
- AT FOI0IS HAYT
400,0008 * 63l 2,400
02 IT2YH| 53,564 53,300 264
O 223 % Al 24,560
- 2Ha3 400,008 * 128 4,800
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1,200,000 * 12& 14,400
- H3e32 ¥ R4A%53
30,0002 » 128 360
- Mol LS(HAIR 29HA)
200,0002 * 12& 2,400
- BANMREZ S 300,000 * 23| 600
- ANsSIM 2 282 1,000,0008 = 2CH 2,000
O ¢2H| 6,300
- AIRA 2Z)| |1
1,500 = 54 % 8AI2t = 1052 * 1CH 6,300
O A&ZHISXH 7,000
-2 4,000 * 850 3,400
- ™ EH KX 300,000 * 12 3,600
O Xars ety 15,704
- ASSEX 3,000,000 = 1CH 3,000
- MAXS 8,000,000 * 1CH 8,000
- 24 1,400 * 704 » 43 » 12& 4,704
202 OfH] 43,000 46,000 23,000
01 2o 1,000 1,000 0
O MLH3ES L gRHI2FT
50,0002 * 109! = 23| 1,000
02 S MOH 42,000 45,000 A3,000
O Mo 250,0002 * 140! * 122 42,000
203 R =ZAH 9,600 0 9,600
01 D22 AR E=EIH| 6,600 0 6,600
O S (3e+0I8t) 6,600,0002 * 14 6,600
04 BARIARE=EIH| 3,000 0 3,000
O E&BEH(15010158}) 250,0008 * 128 3,000
204 R4 AHH| 1,800 0 1,800
01 MMZ A2 LMAY| 1,800 0 1,800
O g% 150,000 * 191 * 122 1,800
405 KHAHE SH 1,000 5,500 24,500
01 ML SEFSH| 1,000 5,500 24,500
O #Al= Aot 500,000 * 204 1,000
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ZOIZ R ALY 322,500 453,000 £130,500
Z0I= ALY 322,500 453,000 £130,500
SO E0IHRIAY 322,500 453,000 £130,500
401 AEHI LS 322,500 453,000 130,500
01 Al&l 320,000 450,000 130,000
O A72 FOUXIAY 320,000,008 * 11 320,000
03 Al& S OHY| 2,500 3,000 A500
O ZoI&RNY =& 2,500,000 * 14 2,500
ZOINE 29 150,295 197,472 AAT ATT
ZOIME 29 108,020 156,760 £48,740
SO FOIXIME 2% 26,980 48,120 ~21,140
201 Ygreg| 24,980 24,620 360
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O o8yl 2,900
- FOIRXME B2 BEA M
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301 YerBAZ 78,640 78,640 0
05 S-2-ernas2aa 78,640 78,640 0
O E-2zsry 75,440
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03 SHYL AL 2,400 0 2,400
O Heggz2d 100,008 * 201 * 128 2,400
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222322 0 £ S 7,0002 * 300= 2,100
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A2 R4
7,457 % B67TAIZ2E « 1221 % 122 * 0.67 48,204
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01 AFRZ2/H] 32,980 30,906 2,074
2dtZ2H]| 8,880
ULIANREE 300,000 * 12 3,600
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SENEERCE 4,000,008 * 14! 4,000
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20,000,0002! * 14! 20,000
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01 Al&H| 7,000 0 7,000
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01 Krard 34,000 12,230 21,770
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